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OBJECTIVES

1. The student should know that the word “sum"

indicates the operation of addition.

2. The student should be able to add two or three
numeric fractions of the form a/b where | |

0< (a,b) < 100.

3. The student should be able to add two or ihree
fractions of the form k/y, where 0 < k <100,
and y is the same literal denominator for all

fractions.

4. The student shculd be able to add two or three 3

literal fractions with the same denomirators.

5. The student should be able to add mixed
numbers of the form X a , where 0 <(x, a, & b) <100.
3 .
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Greetings! You are 2bout to begin
of basic mathematics. There are many f

mathematics you are learning.

improving vour knowledge
ny 1 tant uses for the

semlibuns T SRV e Y

‘4 This booklet is not like your ordinary books. It is designed
3 0 help you learn as an individual. On the following pages

: you will find some information about mathematics. After the
information is presented, you will be asked a question. Your
answers to these questions will determine how you proceed
through tinis booklet. When you have selected your answer
to the question, turn to the page you are told to.

Do not write in this buoklet. You may wish to have a pencil
and some paper handy so you can write when you want to.

Remember this is not an ordinary book. :
1. Study the material on the page.

2. Read the question on the page (you may want to
restudy the material on the page). =

3. Select the answer you believe is correct.

4. Turn to the page indicated by your answer.

Are you ready to begin? :

(a) Yes Turn to page 1 S
\g (b) HNo Turn to page C

(c) HELP Go see your teacher
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Page C

Your answer was (b) No.

Well, this booklet is a little different.

Go back and read page B again. After you have read it,

you will probably be ready to begin.
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It is important anc useful to be abhle to add fractions.
The need to add fractions arises in many everyday

situations. |

In order to add fractions, their denominators must be
the same. If the denominators of the fractions are

the same, you simply add the numerators.

If the denominators of the fractions are not the
same, you must find a common denominator. After a
common denominator has been found, the numerators
are simply added as before. The denominator of the

total is the same as the common denominator.

Go onh to page 2.




LI y
I e v b A ereregel
.2
LD i = A

Here are some exampies:

2/5 + 2/5 = 4/5
179 + 4/9 = 5/9

In both of these examples
the denominators were
already equal. So, the
numerators were simply

added together.

7/6
5/9

1/2 + 2/3 = 3/6 + 4/6
1/3 +2/9 =3/9 + 2/9

What is the sum of 2 and 3?

(a) 6  Turn to page 6
(b) 5 Turn to page 8
{¢) 1  Turn to page 10

In both of these
examples the denom-
inators were not equal.
A common denominatov
was found, and the
numerators added
together.

S e s e S B s et w3 3]




The correct answer was 3/5.

Did you notice that the guestion asked for the sum

of two fractions? This means you add them.

The problem is really: 1/5 + 2/5 =12

Let's see how to do this.

First see if the denominators of both fractions are
the same. In this problem they are both 5. We

call 5 the cammon denominator. We can say that

fifths are being added.

You know that if vou add oranges to oranges you

always get oranges.

Go on to page 20.
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Your answer of 3/5 is correct. You've got the

right idea.

ihen the denominators are the same, simply add

the numerators.

Here's another one.

What is 4/7 + 2/7 = ?

(a) 6/7 Turn to page 12
(b) 6/14  Turn to page 9
(c) 277 Turn to page 5
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4/7 + 2/7 = 6/7

Remember not to add denominators. Keep the same

denominator and add the numerators.

Py

Find 2/9 + 2/9.

(a) 4/18  Turn to page 19
(b) 4/9 Turn to page 16
(c) 5/9 Turn to page 11




Page 6

No! The sum of 2 and 3 is 5. The word sum

(pronounced some) always means to add.

For example: The sum of 2 and 4 is 6. This

means the same thing as 2 + 4 = 6.

Remember that + is the symbol used for addition.

What is the sum of 1/5 and 2/5?

(a) 3/5 Turn to page 4
(b) 3/10 Turn to page 3

(c) I'm not sure what to do  Turn to page 7
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Page 7

The correct aaswer was 3/5.

B AR A o

Did you notice that the question asked for the sum

of two fractions? This means you add them.

The problem is really: 1/5 + 2/5 =?

Let's see how to do this.

First see if the denominators of both fractions are
the same. 1in this probiem they are both 5. Ue
call 5 the common denominator. We can say that

fifths are being added.

SRR R e s 1

You know that if you add oranges to oranges you

get oranges. 1

Go on to page 20.




TEE AT AR RO T I ST S e T S WA T

ST RE e TN

Your last answer was 5.

that sum meant to add.

Find the sum of 1/5 and 2/5.

(a) 3/10
(b) I'm not sure what to do

(c) 3/5

Turn to page 3
Turn to page 7
Turn to page 4
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No! The correct answer was 6/7.

4/7 + 2/7 = 6/7

&
3
r
?‘
3
%

3
3

Remember not to add denominators. Keep the same :

T TR RIR

denominator and add the numerators.

Find 2/9 + 2/9.

(a) 4/18  Turn to page 19
(by) 4/9 Turn tc page 16
(c) 5/9 Turn to page 11
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No e sumof 2 and 3 is §
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(pronounced some) always means to add.

For example: The sum of 2 and 4 is 6. This

means the same thing as 2 + 4 = 6.

Remember that + is the symbol used for addition.

What is the sum of 1/5 and 2/5?

(a) 3/5 Turn to page 4
(b) 3/10 Turn to page 3

(c) I'm not sure what to do  Turn to page 7
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Go ask your teacher for help and then return to

page 1.
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Page 12

Correct! You are doing very well.

Let's do another problem.

Add 1/8 and 3/8.

(a) 1/2 Turn to page 17
(b) 4/8 Turn to page 22
(c) 4/16  Turn to page 24
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0.K! Let's try again. The problem was to add
1/3 and 1/3.

Both fractions have 3 as a denominator. So, we
simply add the numerators and keep the 3 in the
denominator of the answer.

So, 1/3 +1/3 = 2/3

In the circle you can see
that each section is 1/3.
By adding 1/3 and 1/3, vou
end up with 2/3 of the

circle.

What is the sum of 2/7 and 3/7?

(a) 5/7 Turn to page 25
(b) 5/14  Turn toc page 13
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0.K! Let's try again. The problem was to add
1/3 and 1/3.

Both fractions have 3 as a denominator. So, we
simply add the numerators and keep the 3 in the
denominator of the answer.

So, 1/3 +1/3 = 2/3

In the circle you can see
that each section is 1/3.
By adding 1/3 and 1/3 you
end up with 2/3 of the

circle.

What is the sum of 2/7 and 3/7?

(a) 577 Turn to page 25
(b) 5/14  Turn to page 11
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Good, 2/3 is correct! You kept the three as

3

denominator and added the ones.

Try this one.

What is 4/7 + 2/7?

(a) 6/7 Turn to page 12
(b) 6/14  Turn to page 9
(¢) 277 Turn to page 5

ERIC
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You are getting it now.

What is 1/4 + 2/4?

(a) 3/2  Turn to page 11
(b) 3/4  Turn to page 30
(¢} 3/8  Turn to page 23
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Very good. You noticed that your answer should be

reduced. Always reduce your answers.

R. . ser that a reduced fraction has no common

factors in its numerator and denominator.

Find 6/15 + 7/15,

(a) 13/30  Turn to page 28
(b} 13/15  Turn to page 29
(c) 25/30  Tirn to page 27
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In order to proceed with addition of fractions,

you must be able to reduce fractions to lowest

terms.

Go take Unit S on Equivalent Fractions and then

return to page 12 of this Unit.
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No: VYour answer was not correct.

The right answer was 2/9 + 2/9 = 4/9,

Remember that 9 is the common denominator and that

we are talking about ninths.

2 ninths
+ 2 ninths Notice that we are just
4 ninths adding numerators,

What is the sum of 2/7 and 3/7?

(a) &/7 Turn to page 25
(b) 5/14  Turn to page 23
(c) 6/49  Turn to page 1
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The same is true with fractions. If you add fifths

to fifths, you get fifths.

Let's Took at this problem another way.

1  fifth
+ 2 fifths
3 fifths

FETTNOY R AT

This is really the same as our problem.

DAt S e S )

; 1/5 + 2/5 = 3/5 |

HWe said 5 is the common denominator. So, you simply

add the numerators, leaving the common denominator

as the denominator of the answer.

Here's one more for you to work.

What is 1/3 + 1/3?

(a) I still don't see it  Turn to page 14

(b) 2/3 Turn to page 15
(c) 2/6 Turn to page 13

—— AL BRI AN b ST 8




Page 21

In order to proceed with addition of fractions, you

must be able to reduce fractions to lowest terms.

Go take Unit 3 on Equivalent Fractions and then

return to page 12 of this Unit.
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Yes! 4/8 does express the sum of 1/8 and 3/8. But

4/8 can be reduced.

Let's see what this means.

= You can see that the circle
=0 is divided into eights. In
§§;4§;§§\ the shaded part there is 4/8
’@§§§§§§ of the circle. But, from
*ﬁwr“”f“" the circle you can see that
= %’/ 4/8 of the circle is the
%// same as 1/2 of it.

= S0, we say 4/8 = 1/2.

ALWAYS REDUCE YOUR ANSWERS.

Reduce the fraction 3/9 to lowest terms.

(a) 1/3 Turn to page 26
(b) 1/4 Turn o page 18

‘¢) 1 don't know how to do it  Turn to page 2i
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Let's try again.

Remember to add numerators.

What is 3/7 + 2/7?

(a) 5/7
(b) 5/14
(c) 6/49

Turn to page 25
Turn to page 11
Turn to page 11

Do not add the denominators.
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No: You must not add the denominators when adding

fractions.

Look at this problem.
1/8 + 3/8 = 4/8 = 1/2

Add numerators 1 + 3 to get 4. Keep the 8 for the

denominator and then reduce your answer.

What is 3/10 + 3/107?

(a) 6/10  Turn to page 42
(b) 3/5 Turn to page 38
(c) 6/20  Turn to page 32
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Page 25

Yes! b5/7 is the right answer.

Let's do another one.

Find the sum of 1/4 + 2/4.

(a) 3/2  Turn to page 11
(b) 3/4  Turn to page 30
(c) 3/8  Turn to page 11

A I W A St ol i




Page 26 |

Very good: 1/3 is correct.

Dividing both numerator and denominator of a fraction

by the same quantity does not change its value.

From now on always reduce your answers.

Find 6/15 + 7/15.

(a) 13/30  Turn to page 28
(b) 13/15  Turn to page 29
(c) 25/30  Turn to page 27
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No: The correct answer was 13/15.

6/15 + 7/15 = 13/15

Don't let the larger numbers fool you. They are no

different than the smaller onas.

15 is the common denominator. If you add 6 of them

to 7 of them you have 13. Right?

0.K. Let's try again.

L9

3/21 + 8/21 = ?

(a) 172 Turn to page 41 :
(b) 11/21 Turn to page 33
(c) 11742  Turn to page 36
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No: The correct answer was 13715,

6/15 + 7/15 = 13/15

Don't let the larger numbers fool you. They are no

different than the smaller ones.

15 is the common denominator. I€ you add 6 of them

to 7 of them, you have 13. Right?

0.K. Let's try again.

3/21 + 8/21 = ?

(a) 172 Turn to page 41
(b) 121 Turn to page 33
(c) 11742  Turn to page 36
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You are doing very weil! Let's continue by
working addition problems where you must find a

common denominator.

Do this problem.

What is 3/4 + 7/8?

(a) 5/6 Turn to page 51

(b) 15 Turn to page 40
8

(¢) 13/8 Turn to page 35

ERIC

Full Tt Provided by ERIC.




Page 30

Good! 3/4 is correct.

Add 1/8 and 3/8.

(a) 1/2
(b) 4/8
(c) 4/16

Your answer is:

Turn to page 17
Turn to page 22
Turn to page 24
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Fine. 11/15 is correct.

Let's gb on.

What is 3/4 +7/8 ?

(a) 5/6

(b) 10/12

() 15
8

(d) 13/8

Turn to page 51
Turn to page 51
Turn to page 40

Turn to page 35
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You did it wrong again. Come on now. Concentrate.

In the circle on the left

6/20 of it is shaded.

In this circle 6/10 is
shaded. Do the shaded
areas look equal? Of

course not. 6/10 is not

equal ton 6/20.

When you have 3/10 and add 3/10 more you must get 6/10.

3 tenths This is just simple
+ 3 tenths
6 tenths addition. Keer inc tenths

as your denominator. Add

the numerator.

(Continue on next page)




Page 32 (Cont.)

Now, try one niore.

that is 1/6 + 2/6 ?

(a) 172 Turn to page 76
(b) 3/12  Turn to page 46

ORISR

S s e




Page 33
Right! 3721 + 8/21 = 11/21.

Let's try one more.

Find the sum of 7/15 and 4/15. %

(a) 28/15  Turn to page 34
(b) 11/30  Turn to page 24
(c) 11/'5  Turn to page 31
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No! The correct answer is:

7/15 + 4/15 = 11/15

Try this problem.

What is 1/4 + 1/4 ?

(a) 1/2  Turn to page 37
(b) 2/3  Turn to page 39 ‘
(c) 2/8  Turn to page 24 !
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Yes! 3/4 + 7/8 = 13/8.

? Does 3/4 + 7/8 also equal 1 5 ?
8

~ (a) Yes  Turn to page 50
g (b) No Turn to page 73
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No! The correct sum of 3/2% and 8/21 is 11/21.

I thought you had it for a minute,

Let's review the method again.

When the denominators of the fractions to be added

are the same, USE THAT DENOMINATOR IN THE ANSWER.

R TR TR TR I o ERinas

To find the new numerator just add up the individual

numerators.

Add 5/26 and 2/26.

(a) 10/26  Turn to page 39
‘ (b) 7/26 Turn to page 37
? (c) 3/26 Turn to page 39
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Yes!

have

Here

Page 37

7/26 is correct. Very good:

it.

is <ne more.

What is 2/15 + 9/15 ?

(a) 11715
(b} 11/30

Turn to page 31
Turn to page 39

I think you




Page 38

Exceilent! 3/5 is correct. You remembered to reduce

your answer. ;

WYhat is 6/15 + 7/15 ?

(a) 13/30  Turn to paje 27
(b) 13/15 Turn to page 29
(c) 25/30  Turn to page 28




You need some additional help.

Go ask your teacher to clear up this area for you

and then return to page 12.

Wi e s paiw
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Page 40

Does 3/4 + 7/8 also equal 13/8 ?

(a) Yes  Turn to page 50
(b) No Turn to page 73
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No! The correct sum of 3/21 and 8/21 is 11/21.

I thought you had it for a minute.

Let's review the methed = .in.

WYhen the denominators of the fractions to be added

are the same, USE THAT DENOMINATOR IN THE ANSWER.

To find the new numerator just add up the individual

numeratoys.

Add 5/26 and 2/26.

(a) 10/26  Turn to page 39
(b) 7/26 Turn to page 37
(¢) 3/26 Turn to page 39
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But, 6/10 can be reduced.

If we divide both numerator and denominator by

2, we get:

6/2=3 and 10/2=5

Therefore, 6/10 = 3/5

Remember, it is 0.K. to divide both numerator and

denominator by the same number. It will not cnange

N the value of the fraction.

; Raduce 6/18 to lowest terms.

;*?u (a) 3/5 Turn to page 21
(b) 1/3 Turn to page 26

(S (¢} 1'm not sure how to do it  Turn to page 18

Rt ]
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Your answer was incorrect.

You noticed that S was a common denominator. But,

you can't just change the 3 to a 9 and not change

the numera’or too.

vhenever a denominator is changed, the numerator

must also be changed to keep the value of the

fraction the same.

Turn to page 49.
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Let's do another problem where you need to use that

WRAEREPNTY

idea.

What is 1/2 + 1/8 ?

(a) 5/8  Turn to page 60
(b) 2/8  Turn to page 53
(c) 1/5  Turn to page 45
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Page 45

Incorrect!

Reread the explanation and examples on page 2 and

35 %%

then co back to page 44 and make another selection.
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No! Urong again. 1/6 + 2/6 = 3/6 = 1/2.

Go ask your teacher to help you. Then return to

page 12 of this Unit.
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You said you don't know what eaquivalent fractions

are.

Go and work Unit 3. It will help vou to urderstand

them.

Then return to page 29 of this Unit.
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Good! 5/9 is correct. 1 think you understand it

ncw.

Add 5/12 and 2/3.
(a) 1 1 Turn to page 55
12

(b) 13/12  Turn toc page 58
(c) 715 Turn to page 55
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Notice that 3 - 3 = 9. So, 9 would be a good

conmon denominator.
W3=1/3 -« 2/3 = 3/9
So, 1/3 + 2/9 = 3/9 + 2/9 = 5/9.
Remember, any fraction where the numerator and
denominator are the same is equal to one. To find

a common denominator, you must make use of equivalcat

fractions.

Do you know what equivalent fractions are?

(a) Yes  Turn to page 44
(b) No Turn to page 47

AR R NP R AT
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Both of these are the same. It is correct to leave

R e R e

the ansvic» as 13/8. Often this is easier to werk

with than 1 5 would be.
8

3
E
F
{
S

Add the fractions 3/k + 5/k.

(a) 8/k Turn to page 63
(b) 8/2k Turn to page 75

(c) I don't understand what to do  Turn to page 74

o e e




Page 51

Your last answer was incorrect. The corr ct sum of

3/4 and 7/8 is 13/8.

Let's see why.

You recall that the denominators of both fractions
must be the same before the fractions can be added.

In our problem the denominators are 4 and 8.

Can you see any simple relationship between 4 and &?

Sure you can: 8 = 4 x 2.

So, let's use 8 as a common denominator. To do that
we must change the fraction 3/4 into eights.

3/4 = liow many eights?

7o get 8 in the denominator we must multiply by 2.

However, you must not change the value of the fraction,
so the numerator must be multiplied by 2 as well.

3/4 - 2/2 = 6/8

Since 6/8 is equivalent to 3/4, the value of 3/4

remained unchanged.

Turn to page 52.




Page 52

Now back to our addition.

We can say that: 3/4 + 7/8 = 6/8 + 7/8 = 13/8

Once both fractions have 8 as denominators, they

are simply added as before.

i at's try another one.

Add 1/3 and 2/9.

(a) 3/12  Turn to page 59
(b) 3/9 Turn to page 43
(¢) 5/9 Turn to page 48
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rage 53

Ho! You don'* quite have it.

Maybe your teacher can help clear up the problem.

Then return to page 29 of the Unit.

ey ——




Page 54

Right! 677 + 5714 = 17714,

Can you do one using letters? Try one.

Add the fractions: 3/k + 5/k.

(a) 8/k Turn to page 63
(b) 8/2k Turn to page 75

(¢) I don't understand what to do  Turn to page 74
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No! VYou added incorrectly.

8 BEIEMBER: Never add denominators: You must find 3
» a common denominator. ;
Here 72 could be a common dencminator. ;
2/3 = 2/3 + 4/4 = 8/12 ; ;
So, 5/12 + 273 = 5/12 + 8/12 = 13/12 = ?
f Try this problem. %
]
E ‘
N |
» |
> |
|

Find the sum oF 2/5 + 2/15.

(a) 4/15  Turn to page 53
(b) 3/5 Turn to page 32
(c) 8/15  Turn to page 61
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Yes! 1 1 is the sum of 5/12 and 2/3.
1

Is the answer 13/12 also correct?

(a) Yes  Turn to page 6&
(b) No Turn to page 62

A A e i, o




Page 57

Tha® answer is incorrect. Here is the reason

why.

2 is equivalent to 6/3. Therefore, 2 2 1is equal

W

to 6/3 + 2/3 or 8/3.

-
-

be
N
28
=
2
X
2
5
A
:3
‘/“
%
=
Kty
i
¥
i
3
ks
ks
N
4
2

Do you kncw what equivalent fractions are?

(a) Yes  Turn to page 44
(b) MNo Turn to page 47
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Yes' 13/12 is the sum of 5/12 and 2/3.

Is the answer 1 T%' also correct?

(a) Yes  Turn to page 68
(b) HNo Turn to page 62
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No!' That is not correct.

Remember the problem? It was to add 1/3 and 2/9.

You must first find a common denominator.

It is never correct to add the denominators of

the fractions.

Turn to page 49.




Page 60

Excellent! 5/8 is correct.

Here's another one.

Find the sum of 5/12 and 2/3.
(a) 1 1 Jurn to page 56
12
(b) 33/12  Turn to page 53
(c) 7/15 Turn to page 55




Page 61

Fine! 2/5 and 2/15 do" equal '8/15.

Yhat is the sum of 6/7 and 5/14 ?

(a) 1 1 Turn to page 53
15
(b) 17/14  Turn to page 54

(c) 11721  Turn to page 53




Page 62

Let's thirk about what 1 1 really is. 1'm sure
12

you know that t“ere are 12/12 in 1. So, 1

omad)
N

is simply 1212 + 1/12 which equals 13/12.

Try ancther one.

st WPl e Tt N o L s

fepaids 3t st

2 2 is equal to which fraction below ?

R
N
i
A
&
B

(a) 4/6  Turn to page 53
(b) 4/3  Tuvn to page 57
(c) 8/3  Turn to page 67 |
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Page 63

Very good!

el L 3 T,

Here is another one.

Bl tled ve s v ol
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Uhat is x/z + y/z ?

(a) I don't understand this one  Turn to page 72
(b) (x + y)/2z Turn to page 69
(c) (x+y)z Turn to page 70
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Page 64

Your answer was incorrect.

You noticed that 15 was a caommon denominator.
However, when a denominator is changed, the numerator

must also be changed to keep the value of the

fraction the same.
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Turn to page 49.
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Page 65

Good: [Maybe you've got it this time,
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What is x/z + y/z?

(a) I don't understand this one  Turn to page 69
(b) (x + y)/2z Turn to page 72
(c) (x +y)/z Turn to page 70




Page 66

0.K. Let's see how to add 1/2 and 1/4.

First we need to find a common denominator for

2 and 4.

Is there a simple relationship between 2 end 4?

Yes! 4 =2 < 2. So, we can take 4 as a common
denominator. This means we need to change 1/2 into

an equivalent fraction with 4 as a denomivator.

Se, 1/2 + 2/2 = 2/4

Now we can easily add 2/4 + 1/4 and get 3/4.

Always look for the relationship between the

denominators.

Go to page 77.




Page 67

Good! You are doing okay now.

Let's try adding two more fractions.

Lo AR SRR Y S e U

Find the sum of 2/5 and 2/15.

(a) 3/5 Turn to page 53
(b) 8/15  Turn to page 61
(¢) 4/15  Turn to page 64




é Page 68

and 13/12 were the same.

Now, try addition of fractions that contain a

Jetter.

Add: 3/k + 5/k = ?

(a) 8/%
(b) 8/2k
(c) 1 don't understand what to do

Turn to page 63
Turn to page 75

Turn to page 74
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Page 69

Remember that you follow the same rules whenever

you add 1iteral fractions. (Ones that have ietters
instead of numbers.) In cther words, the denominators
must be the same and then you add the numerators.

For example, a/b+ c/b= (a + ¢)/b

Or, 3y/4x + 62/4x = (3y + 62)/4x

What is the sum of 4b/c and k/c ?

(a) 4bk/c Turn to page 78
(b) (4b + k)/c  Turn to page 63
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Page 70

Excetient

Remember that you can add fractions that use
letters the same as fractions with numbers. As
long as their denominators are the same, the

numerators are just added.

Add 1/2 and 1/4.

(a) I don't know what to do  Turn to page 66
(b) 6/8 Turn to page 71
(c) 3/4 Turn to page 85




Page 71

Yes! 1/2 + 1/4 = 6/8. But is there a simpler way

to write 6/8?

You should notice that 6/8 is not in lowest terms.

6=3-2 and 8=4 -2

So, 6/8 =3 - 2
4 .2

But, 3 - 2=23/4 - 2/2=3/4 -1=23/4
2

Remember that your final answer should always be

reduced. This means that the aumerator and

denominator should have no common factors.

Turn to page 86.




Page 72

Remember that you follow the same rules whenever
you add literal fractions. (Ones that have letters
instead of numbers.) In other words, the denominators

must be the same and then you add numerators.

For example, a/b + ¢/b = (a #+c)/b

Or, 3y/4x + 62/4x = (3y + 62)/4x

What is the sum of 4b/c and k/c?

(a) 4bk/c Turn to page 78
(b) (4b + k)/c  Turn to page 63
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Page 73

Your ansver was incorrect!

Let's think about what 1 5 really is. You know
8

that there are 8/8 in1. So, 15

8

is simply

8/8 + 5/8 = 13/8.

Let's try another problem to segc if you understand

this idea.

Add 5/12 and 2/3.

(a) 1 1 Turn to page 56

12
(b) 13712  Turn to page 58
(c) 7715 Turn to page 55
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Page 74

Being able to work with letters is very important. :
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Go to Unit 2. After working that Unit return to

:\.
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page 1 of this Unit.




Page 75

No. |
3 Working with letters is the same as working with
. numbers. You still should not add the denominators.
» k is a common dencminator.
; ] So, we simply add the numerators 3 and 5.
Therefore, 3/k + 5/k = 8/k. |
Q’,-f Let's try ancther one.
] What is 5/x + 9/x ?
Y (a) 14/x Turn to page 65
;" 4 (b) 14/2x Turn to page 89

(¢) I don't get it  Turn to page 78




Page 76

Good! You are correct. ilayvbe you've gut it now.

Here's one more just to be sure.

“T3
-mte
=
ca

i the sum of 7/15 and 4/15.

(a) 28/15  Turn to page 39
(b) 11/30  Turn to page 24 |
(c) 11/15  Turn to page 33
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Page 77

Here's another example.

What is 2/9 + 1/3?

Is there a simple relationship between 3 and 9?

Yes! 9 =3 x 3. So, we should multiply the
fraction 1/3 by 3/3 to change it to ninths.

S0, 1/3 = 1/3 - 1=1/3 + 3/3 = 3/9.

Then, 279 + 1/3 = 2/9 + 3/9 = 5/9.

That's all there is to it.

Here's one for vou.

What is 1/5 + 3/10 ?

(a) 4/10  Turn to page 79
(b) 5/1C  Turn to page 82
(c) 12 Turn to page 8i
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After working that Unit, return to

Go to Unit 2.

page 1 of this Unit and continue.




Page 79

No! The correct answer was 1/2. Let's see how to

- s

do it.

The problem was to add 1/5 and 3/10. First, we need
a common denominator to add the fractions, since 5

and 10 are not the same.

One way to find a common denominator is to notice
whether any simple relationship exists between the
denominators. Here, 10 =2 ¢ 5. So, we can take

10 as a comnon denominator.

Changing 1/5 into an equivalent fraction we have:
WWs5=1/5--1=1/5-2/2 = 2/10.
Now, the fractions can be added.

1/5 + 3/i0 = 2/10 + 3/10 = 5/10
But 5/10 can be reduced to 1/2. Or, you can say we
cancelled 5 out of both the numerator and denominator.
The answer, then, is 1/5 + 3/10 = 1/2.

Turn to page 80.




Page 80
Remember to leave your answer in lowest terms.
This means that the numerator and denominator

should have no common factors.

Now try one more.

What is 2/7 + 5/14 ?

(a) 7721  Turn to page 88
(b) 9/14  Turn to page 81
(c) 1/3 Turn to page 53




Page 81

; Good: You're catching on now.
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§ ‘ Go back and work the problem on page 70 then

continue from there.

Turn to page 70.




Page 82

Yes! You added 1/5 and 3/10 correctly.

But, is 5/10 in lowest terms? No. Let's see why.

5/10 = §/5 + 1/2. Since 5/5 =1, it doesn't have
to be there. So, we just reduce 5/10 to 1/2.

Always reduce your answers. This means that the

numerator and denominator should have no common

factors.

Turn to page 86.
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Page 83

it is necessary that you understand how to reduce

fractions.

Go to Unit 3. After working that Unit, return to

page 29 of this Unit and continue.




Page 84

Fine! You reduced 12/36 to 1/3. Correct!

From now on always reduce answers to lowest terms.

Turn to page 81.




Page 85

Your last answer was correct!

You are doing very well.

Go to Booklet II of this Unit and cuntinue with

your work on page 90.




Page 86

Let's give it another try.

B L R T e

Reduce 12/36 to lowest terms.

(a) 6/18  Turn to page 87
(b) 1/4 Turn to page 83
(¢c) 1/3 Turn to page 84
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Page 87

1t is necessary that vou understand how to reduce

&

fractions.

Go to Unit 3. After working that Unit, return to

& e F Ly e s v

4 page 29 of this Unit and continue.
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Page 88 f
No: You fell into the old trap. ‘
You must have a common denominator befere you try ;
to add.
Go ask your teacher to help you and then return to | %
page 29 of this Unit. é
3
3




Page 89

The correct answer was 14/x.
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E ] You need %3 understand how to use letters in order

] to proceed.
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